On The Road Again

Bernard Lavillier
Standard tuning

J =120
let ring -=========== == - — oo 1
m V M V A

dist.guit.

T . 7 12
ﬁ' 7

o)

J

1 4 2 3 4
Em G Bm?7 Em G Asus4/B Em
(o] 000 000X X O X o 000 000X X X O (o] [e]e)
o . o e . o o
[ ] [ ) o [ ] [ J
12 21 1 24 12 21 1 23 12 4
PM. -----===-==-—mmm- - 1 letring------ 1 PM. ----------------—-- 1 let ring
AEmEy AAEAmAY Al VARV o AmEEy rAEAmy o Am mlngl
H
~
2 ] 12 1 > 0-22-3—
0 o a) g)’éﬁ<7 7 12 a) o a) g —
A 2 OLBW 2 0#020\
B 2 2-(0)0)—2 9 2 2-(0)0)}—2
00— 33 L L 00— 3 L
22 4
Emadd9/Bm G5 G6 B5 B5 BmDsus2 D Em
X 00O OOXOOXX00 O XXXXO X XXO X O XXO [0} XXO o [o]e)
T | IR BRRRD R @
[] [ ) [] [] [ ]
12 312 3 3 4 3 1 3 1 243 24 142 12 4
let ring let ring —===---------- 1 let ring -4 let ring
o T o IO e T o R o R o B o BN o 11 mom V m m m M
| 220 O~om2 =2 )~ A~ 0= 2 73
T I ~ 3 ~ 3 3
1 o= o= > 2
A I 2 s} N s}
=¥ 10 ~ U U U U~
=0 | 2~~— ~ ~ 2~ T -
0 ~ 3
2 4

1/4



Em7/G G6

Dmaj7sus4/G Asus4/B DsiBusD Em
X00 O X00 O X00 X X X O  XXOXXOXXO o 00
s re s el Tele (o9
o[ (®e[ @ ° ® IR IEK) ®
3 4 3 4 3 2 1 24 24 13 142 12 4
let ring let ring let ring -=—--- 4 let ring
™ M M \ ™ M M ™ o I o I o I o B o I M
H
~
s 2 0 ! o T2 53
T 3 2 3 3
2~— 1 ~— O~—1~— 0 0
R
b 2~— 1 ~— 2
—~0 3~ ~— | —
4 4
Go6 G5 Go6
00 O XOOXX X00 O
)
e[ [® ® e[ [®
21 3 3 3 4
let ring ==============--- 1 let ring
m| m| m| Ve ™ ™ ™ I
10 9 < >
2 2—0 0 0 2
T 3
0
A 0
B 2 ~—— ~—_—
0~ e < = 3~—— ~——
| | ——
2 2 3
Bm?7 Dsus2 Em9 Em7/G
X O XXO O o o X00 O
slele ) sl le
® ® ® ' 2EEK)
1 243 14 12 43 3 4
let ring let ring letring —=-=-=--=-==------- 1
o I o TR o N VAR o IR o I o I Y o T VAR o HEN o BN o B VAR |
A
11 PR 12 9 0
<B;2 N—" N’ N’
0 N N N 3

2/4



Asus4/B

Bm7 Dsus?2

Em Em7/G
X X (o] X O XXO [ (o] O X000 O
oo srele[T® so T
[] [] [] [] [ ] []
1 24 1 243 14 12 4 3 3 4
let ring ===+ let ring let ring let ring ========-~ 1
™ ™ ™ \V ™ ™ ™ ™ o O o T VA o Y o T o IOV o
13 14
PN (3\ PN Lo MmN 2 g 3 2 N 2 Lo Wa 0
= 2 > T 0 7 0
B——2
0 3 (3)—
1. | |2
Asus4/B Dsudfdsus2 D Em Asus4/B
X X (o] XX0O X&XO X&XO (o] 00 X X (o]
i TTRIAL [0 s
® (] (] ® o ®
1 24 24 13 142 12 4 1 24
let ring let ring let ring —-=--=--=-=------- 1
Y e T e N o IO o IR o V() m| m VYV m V m
H
~
13 0 2 2-3 I 12
T 3 3 7 12
| 2 Y dl | 7
A 0 / |
872 : I AT 9
2y
4 1 4 2 3 4
Em G Bm7
(@) 000 000X X O X
o ) ol
[ ] []
12 21 1 24
PM.------------------mmmm oo 1 let ring —====-=-=-=-=------- 1
I o I o I () IR, o I I o T o IR m om V m m V m
17 18 12
T 3 7 12
H 0 N o 0 2 N\ 7
A 2 0—7 0 (0)
B 2~ > (0)(0)—|—2 9
D N~ \
= 0—0 3—3

3/4



Em G Asus4/B

(@) 000 000X X X ]
) . ol
[ ) ®
12 21 1 24
PM. —m——mm oo oo 4
o T o I o N () AR o I o R o I o BV ™ ™ ™
19 20 N> L
5/\ e —
0 N o 0 2 TN _— —
> o0 7 0 (0) A
—— 2 0)—0)—|2—2< ——

4/4



